Mental Computation (End term 1 - Sample 1)

1 (N6.3)


6x−4






















































(−24)

2 (CD5.1)

What is the probability of a fifty-fifty event?




















(0.5)

3 (N5.3)


Estimate   22.1 x 4.2








































(80)


4 (N5.1)


Which power of ten is 10 000?































(104)

5 (N6.2)


− 7 + 4 − 1
















































(−4)

6 (PA5.1)

In which quadrant is (−2, −1)?
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7 (N6.2)
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9 (PA5.2)

Solve the equation:  2x + 7 = 12






























(2.5)
10 (PA5.2)

Evaluate the function:  y = 5x + 3, when x = −1
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Mental Computation (End term 1 - Sample 2)

1 (N6.3)


−6x3





















































(−18)

2 (CD5.1)

What is the probability of a certain event?






















(1)

3 (N5.3)


Estimate   81.3 x 2.09







































(160)


4 (N5.1)


Which power of ten is 100 000?































(105)

5 (N6.2)


− 4 + 3 − 2
















































(−3)

6 (PA5.1)

In which quadrant is (2, −1)?
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8 (N6.2)



[image: image7.wmf]5

1

4

1

-






















































(
[image: image8.wmf]20

1
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9 (PA5.2)

Solve the equation:  2x + 4 = 7































(1.5)

10 (PA5.2)

Evaluate the function:  y = 2x + 4, when x = −1


















(−2)

Mental Computation (End term 1 - Sample 3)

1 (N6.3)


−3x−4




















































(−12)

2 (CD5.1)

What is the probability of an impossible event?

















(0)

3 (N5.3)


Estimate   29.1 x 4.2








































(120)


4 (N5.1)


Which power of ten is 1000 000?





























(106)

5 (N6.2)


−6 + 2 − 2
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6 (PA5.1)

In which quadrant is (−2, 1)?
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7 (N6.2)
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9 (PA5.2)

Solve the equation:  2x + 4 = 9































(2.5)

10 (PA5.2)

Evaluate the function:  y = 3x + 5, when x = −1
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